Phòng GD ……………         English written test 3
Trường : ....................               (Grade 9- time limited 45’)

                                                                 ************

Name:.....................................Class: ...................                                                

I. Which one has different pronounced:
	1.
	A. chair
	B. stomach
	C. catch
	D. child

	2.
	A. how
	B. hat
	C. hour
	D. house

	3.
	A. ear
	B. sea
	C. pea
	D. tea

	4.
	A. know
	B. knee
	C. knife
	D. kill


5    A. litter
     B. appliance
          C. dissolve
              D. innovate

6.  A. student
    B. lunar
          C. humor
             D. pupil

II. Choose the best answer to complete the sentences. 
1. Can you ..............the light ? It's too dark to do homework .

	A. turn off
	B. turn on
	C. turn down
	D. turn up


2. She suggested ...........money for the poor people in our neighborhood .

	A. save
	B. to save
	C. saving
	D. saved


3. If he ............... a student, he will get a discount.

	A. is
	B. was
	C. were
	D. will be


4. She is very tired; ................, she has to finish her homework.

	A. moreover
	B. so
	C. and
	D. however


5. My sister sings very .........
	A. beauty
	B. beautiful
	C. beautifully
	D. beautify


6. I suggest you …………. practise speaking English every day. 

	A. must
	B. can
	C. should
	D. have to


7. Solar energy doesn’t cause ............. .

A, polluted              B, polluting              C, pollution              D. to pollute
8. I have ………………my bag but I can’t find it anywhere.

A.looked at       
 B.looked for
    C.looked after
     D.looked in

9. I think we should use shower……………….bath to save water.

A.because of
B.inspite of
    C.in case of
     D.instead of.

10. A ………………..faucet can waste a lot of water a month.

A.running
B.dripping
    C.dropping
     D.cutting

11. How about………………a bus?We have a lot of time.

A.take
B.to take
    C.taking
      D.having taken

12. We should not use plastic bags because they are very hard to…….

A.melt
 B.soften
   C.heat
      D.dissolve

13. We can save natural……….by using solar energy.

A.products
B.resources
   C.preserves
      D.produces

III- Circle A,B,C , or D which needs correction

1-There are too much exhaust fume in the air in this city.

               A     B                                 C                D

2-My teacher spoke so quick that I didn’t understand what she meant.
                           A           B                                             C              D

3- My teacher told me I was doing well;therefore, my final grade was bad.

                         A                B                       C                          D

4-I suggest to have a separate basket for newspaper.

                         A               B                  C       D

5- A new school was built in the village recently.

    A                      B     C    D

IV. Fill in the blanks with suitable words from the box, then answer the questions. 
	effective  nuclear  pollution  heat  stored  electriccity  energy  panels


   Are you looking for a cheap , clean, (1) ................................... source of power that doesn't cause (2) .................................. or waste natural resources? Look no further than solar(3) ..................................... from our sun.

   At present, most of our (4) .......................................... comes from the use of coal and gas, oil or (5) .................................... power . This power could be provided by the sun. 

   Many countries are already using solar energy. Solar (6) ....................................... are placed on the roofs of a house and the sun's energy is used to (7) ................................ water. The energy can be (8) ......................................... for a number of days, so on cloudy days you can use solar energy, too.

V- Choose the correct sentence among A,B,C or D 

1-Long forgot his raincoat,so he got wet.

        A.Long got wet because he forgot his raincoat.

        B. Long got wet .However, he forgot his raincoat.

        C. Long got wet ,so he forgot his raincoat.

        D. Long got wet because of he forgot his raincoat.

2.Mary broke the glass because of her carelessness.

        A.Because Mary did carelessly, so she broke the glass.

        B.Because Mary was careless, she broke the glass.

        C. Because Mary got carelessness,therefore she broke the glass.

        D. Because Mary made carelessness, she broke the glass.

3-My brother plays the guitar well.

        A.My brother is well the guitar player.

        B.My brother is the well played guitarist.

       C. My brother is good play guitarist.

       D. My brother is a good guitar player.

4. Hurry up or we will miss the train.

       A.If you will hurry up , you won’t miss the train.

       B.If you hurry up, you will miss the train.

       C.If you don’t hurry up,you will miss the train.

       D.If you won’t hurry up, you miss the train.

5 -Because they made too many mistakes, they failed in the exam.

       A.They made so many mistakes that failing in the exam.

       B. They made so many mistakes that they failed in the exam.

       C. They made so many mistakes for them to fail in the exam.

       D. They made too many mistakes that they failed in the exam.

VI. Rewrite the sentences without changing the meaning.

1. She went to bed early because of her sickness.

    Because ……………………………….........................................……………. 

2. Work harder or you will fail the exam.

    If …………………………......................................…………………………..

3. How about going out for a change?
    I suggest …………………………….....................……………………………
1/ …she was sick, she went to bed early

2/ … don’t work harder, you will fail the exam

3/ ….going out for a change
The end
Name:

Class:                              Written test 3 (Grade 9)                   Number 1

Mark:

I. Which one is different? (1 pt)

	1.
	A. who
	B. which 
	C. why 
	D. where 

	2.
	A. chicken
	B. chemist
	C. chat
	D. church 

	3.
	A. would 
	B. sound
	C. mouth
	D. count 

	4.
	A. cottage
	B. hostage 
	C. massage
	D. village 


II. Choose the best answer to complete the sentences. (1.5 pt)

1. We are talking about the……………. of natural resources .

	A. preserving
	B. preserve 
	C. preservation 
	D. preserver 


2. Unless you …………………., I will explain it again to you.
	A. understand
	B. don’t understand 
	C. won’t understand
	D. didn’t understand


3. Who ………….. your house when you are away from home .

	A. looks on
	B. looks in 
	C. looks at 
	D. looks after


4. They didn’t understand the matter; …………. , they didn’t ask for help.
	A. but
	B. however
	C. moreover
	D. and 


5. Can you …………. the light? It is light enough to read a book.
	A.  turn on
	B. turn down
	C. turn up
	D. turn off


6. She suggested ………… money for the poor in the region . 

	A. saving
	B. save
	C. to save 
	D. saved 


III. Give the correct form of the verb in bracket (1.5 pts).

1. If the climate (change) …………, we (meet) …………. with natural disasters.
2. If we (try) ………… to control pollution, it (be) …………... very expensive.
3. But if we (not control) ………………… pollution, it (affect) ……………… our life.
1/ changes – will meet

2/ try-will be

3/ don’t control-will affect

IV. Match a line in column A with a line in column B to make a meaningful sentence. (1pt)

	A

1. If people use public transport, 

2. You’ll learn English more easily

3. If they don’t give him the job,

4. If I drink coffee at night,

5. You will speak English well

6. If you see her,

7. The alarm goes off

8. Harry may lose weight


	B
a. I can’t sleep.

b. will you give her flowers?

c. if he does exercise regularly.
d. I don’t know what he will do.

e. there will be less pollution.

f. if someone enters the building.

g. if you have more practice.

h. if you study a little every day.


1. .........  2. ...........  3. ............ 4. ........... 5. ........... 6. ........... 7. .......... 8. ..........
V. Fill in the blanks with suitable words from the box, then answer the questions. (3 pts) 
	scientists   pollution   serious   factories   

exhaust   require   percentage   reduce


   Everyone wants to reduce (1) ....................... . But the pollution problem is as complicated as it is (2) ............... . It is complicated because much pollution is caused by things that benefit people. For example,(3) .................... from automobiles causes large  (4) .................. of air pollution. But the automobiles provide transportation to millions of people. (5) ……………….. discharge much of the material that pollutes the air and water, but factories give employment to a large number of people.
Thus to end or greatly (6) ……………… pollution immediately, people would have to stop using many things that benefit them. Most people do not want to do that, of course. But pollution can be gradually reduced in several ways. (7) ……………… and engineers can work to find ways to lessen the amount of pollution that such things as automobiles and factories cause. Government can pass and enforce laws that (8) ……………….. businesses and individuals to stop, or cut down on certain polluting activities.

*Questions:

1. Do things that benefit people bring about pollution?

.......................................................................... .

2.  Is it complicated to reduce pollution? Why or why not?

...................................................................................................................... .

3.  Who can find ways to lessen the amount of pollution?

....................................................................................................................... .
4. What can the government do to reduce pollution?

  …………………………………………………………………………. .

VI. Writing ( 2pts ):
A. Rewrite the sentences without changing the meaning.

1. She didn’t go to school because of her illness.

    Because ……………………………………………………. 

2. Listen to me or you won’t understand the lesson.

    If ……………………………………………………………..

3. She couldn’t join us because she was busy.

    She was busy, ………………………………………………….

4. How about going out for a change.

    I suggest …………………………………………………………

1/ …she was ill, she didn’t go to school
2/ …you don’t listen to me, you won’t understand the lesson.

3/ …so she didn’t join us

4/ … going out for a change
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